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QUESTION 1

Which of the following is a method for managing risk? 

A. PRAMM. 

B. TRAMM. 

C. CRAMM. 

D. GRAMM. 

Correct Answer: C 

 

QUESTION 2

Which of the following actions should an organisation take to help realise the marketing value of green IT? 

a.Provide public disclosures of their environmental impact. 

b.Redefine their business strategy to include green initiatives. 

c.Ensure all advertising focuses on its green message. 

d.Provide a green discount across all of its product range. 

A. a, b, c and d. 

B. a, b and c. 

C. c and d. 

D. a and b. 

Correct Answer: D 

 

QUESTION 3

Which of the following describes embodied energy? 

A. The total amount of energy involved in manufacture of a product lifecycle. 

B. The total amount of energy involved in operating a data centre. 

C. The total amount of energy involved in heating an office building. 

D. The total amount of energy involved in creating a carbon footprint. 

Correct Answer: A 
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QUESTION 4

The Carbon Footprint comprises of both direct and indirect emissions. Which of the following is an indirect emission? 

A. Travelling to the office. 

B. Opening a spreadsheet. 

C. Disposing of a server. 

D. Printing out a report. 

Correct Answer: C 

 

QUESTION 5

What does Carbon Energy Accounting measure in an organisation? 

A. The entire amount of energy used by the organisation. 

B. The entire cost of supplying energy to the organisation. 

C. The entire financial profit of adopting a Green IT strategy in the organisation. 

D. The entire amount of CO2 produced by the organisation. 

Correct Answer: A 
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